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I Wiech of the following is a state function?
ajwork D) heat e} enthalpy  d) specific heat capacily.

2 Citven thal AFy of CaCO g, s - 12069 kmol, AT of Calyg s -635. 1 kmol and Aol CO 0y,
5 -39 5 klimol Caleulate the AT, for the decomposition of calenon carbunate (o calowm

wxide and canbon dioxide
[:ﬂ.cljju] * L:HU“:, I {..1.},.1”3

a)-22315 5kl L) -1783 kI ¢} 783 kI d) 22355 k)
3 The shape of an atonne erbilal 1s associated with
i) the principle quamum nnmber () I} the azimuthal quantum number (/)
c) the magnelid quastiin innnber () dy the span quantum numberim, )
2 An element with the election conliguration [noble gasus’(e- 11" has how many valence
electrons?
a) 2 by & i) 8 eyl
5 Which of the following malerials is most acibic?
a} 50, by Al(h c) Caly d) PLO
¥ Which of the following atoms will be diamagnetic?

alCr byRu ) Cd dyim

7. Select the most polar bond
ap C-00 by Sl oy CLF o dy C-F

8 Which of the followmg exhibit resonance?
a) COy b)Y CHOy o COCL ) MO,

Y What 15 the molecular shape of CIFy as predicted by the VSEIPR theory?
a) square pyranwdal by square planar - ¢y 1etrabedral  dy vctahedral

10 A metal such as chromium in the body-centered cubic lattice will have how many atom{s) per
il cell?

Al b2 1 )4

1L To determine whether the data available corresponds 10 a second order rate expression, which of
the following plots will vield a straight hine?  [A] is the concentration and 1 is time. a) [A] vs
L by AT vst ed A wst d) In[A] wst

12, What s the name of the coordimation compound MaMn{C (0.7

a) disodiom tifoxalatejmangancse( [V) 1) sodiom trifoxalateymanganese (1)

) disodivm tricealatamanganateq 1) ) sodmm tris{oxalato)manganese( 1V)
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A D050 M solution of a weak acid 1TA has [HO [=3 772 10" A What is the Ka for the
acid?
A TSR 07 AL LYZRx I0"AL ) TUX 10%A d) 26 107" Af

Mitrogen dioxide, Nt 15 a) paramagnetism by damagnetisin - o) ferromagnelism
antiferromagnetism.

Wihen 0.1 mole of sodivm sallide, Ma S, is added 101 001, o water, Which of the Tosllorwennye
statement is correct?

a) The sehition s basic Iv) the solution 1s acidic ) the solution 1s neutral — d) The
valwes fun K, and Ky Tor the species in solution must be known before a prediction can be made

Which of the following has the highest acidfbasce bufler capacily?
a) 000 A PO 10 A TIRO by 050 A FLPOGO 10 AL HIPOY
c) O LA TLPOL S0 A 1O dy 050 A HLPO, 050 M HPD,

A change in pll will alTect the solubility of which of the following compuounds?
a) Bal;  b) CuCl o) CoBir  d) Agl

For n chemical reaction (o be spontaneans only at ligh temperatures, which of Uhe following
conditions must be nel?

1) AN F0 AT, = 0 b ASTL 50 AN, <00 ©) AR",, <0, AL, = 0

dy A5, <0, AN, = 0

An electrochemical cell consists of two AVALY electrodes  The electrolytes in compartiment A
15 01050 A AINOL ) and in compartment 1 is 1 25 Af AN What s the voliage of (e
cell?

Ay UOREY L)OO62ZY 004l YV dyOo02E v
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Compounds of Se™ are not colored, but those of Ti' and ¥ are colored Why?
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